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VERTICE 1

XV  =  415790.690
YV  = 4873125.096

VERTICE 2

XT1 =  415760.601
YT1 = 4873092.560
SVC1=       0.000
XTC1=  415760.601
YTC1= 4873092.560
AC1 =       0.000

XV  =  415735.230
YV  = 4873065.126
AV  =    144.3630
AD  =     55.6370
XC  =  415701.867
YC  = 4873146.877
R   =      80.000
SVRC=      69.916
SVL =      69.916

XT2 =  415697.909
YT2 = 4873066.975
SVC2=       0.000
XTC2=  415697.909
YTC2= 4873066.975
AC2 =       0.000

VERTICE 3

XT1 =  415673.848
YT1 = 4873068.166
SVC1=       0.000
XTC1=  415673.848
YTC1= 4873068.166
AC1 =       0.000

XV  =  415643.928
YV  = 4873069.648
AV  =    154.3808
AD  =     45.6192
XC  =  415669.890
YC  = 4872988.264
R   =      80.000
SVRC=      57.327
SVL =      57.327

XT2 =  415620.394
YT2 = 4873051.114
SVC2=       0.000
XTC2=  415620.394
YTC2= 4873051.114
AC2 =       0.000

VERTICE 4

XT1 =  415549.709
YT1 = 4872995.448
SVC1=       0.000
XTC1=  415549.709
YTC1= 4872995.448
AC1 =       0.000

XV  =  415529.380
YV  = 4872979.438
AV  =    160.1676
AD  =     39.8324
XC  =  415500.213
YC  = 4873058.298
R   =      80.000
SVRC=      50.055
SVL =      50.055

XT2 =  415503.525
YT2 = 4872978.366
SVC2=       0.000
XTC2=  415503.525
YTC2= 4872978.366
AC2 =       0.000

VERTICE 5

XT1 =  415485.416
YT1 = 4872977.616
SVC1=       0.000
XTC1=  415485.416
YTC1= 4872977.616
AC1 =       0.000

XV  =  415402.043
YV  = 4872974.162
AV  =     97.3170
AD  =    102.6830
XC  =  415488.728
YC  = 4872897.685
R   =      80.000
SVRC=     129.035
SVL =     129.035

XT2 =  415409.007
YT2 = 4872891.009
SVC2=       0.000
XTC2=  415409.007
YTC2= 4872891.009
AC2 =       0.000

VERTICE 8

XT1 =  415411.710
YT1 = 4872858.736
SVC1=       0.000
XTC1=  415411.710
YTC1= 4872858.736
AC1 =       0.000

XV  =  415412.769
YV  = 4872846.082
AV  =    182.1541
AD  =     17.8459
XC  =  415322.024
YC  = 4872851.225
R   =      90.000
SVRC=      25.229
SVL =      25.229

XT2 =  415410.287
YT2 = 4872833.630
SVC2=       0.000
XTC2=  415410.287
YTC2= 4872833.630
AC2 =       0.000

VERTICE 10

XT1 =  415407.484
YT1 = 4872819.569
SVC1=       0.000
XTC1=  415407.484
YTC1= 4872819.569
AC1 =       0.000

XV  =  415405.401
YV  = 4872809.119
AV  =    184.9960
AD  =     15.0040
XC  =  415319.221
YC  = 4872837.164
R   =      90.000
SVRC=      21.211
SVL =      21.211

XT2 =  415400.935
YT2 = 4872799.445
SVC2=       0.000
XTC2=  415400.935
YTC2= 4872799.445
AC2 =       0.000

VERTICE 10

XT1 =  415386.861
YT1 = 4872768.956
SVC1=       0.000
XTC1=  415386.861
YTC1= 4872768.956
AC1 =       0.000

XV  =  415381.913
YV  = 4872758.235
AV  =    181.3424
AD  =     18.6576
XC  =  415314.226
YC  = 4872802.484
R   =      80.000
SVRC=      23.446
SVL =      23.446

XT2 =  415374.078
YT2 = 4872749.401
SVC2=       0.000
XTC2=  415374.078
YTC2= 4872749.401
AC2 =       0.000

VERTICE 10

XT1 =  415343.032
YT1 = 4872714.396
SVC1=       0.000
XTC1=  415343.032
YTC1= 4872714.396
AC1 =       0.000

XV  =  415331.764
YV  = 4872701.691
AV  =    173.3680
AD  =     26.6320
XC  =  415283.180
YC  = 4872767.478
R   =      80.000
SVRC=      33.467
SVL =      33.467

XT2 =  415316.307
YT2 = 4872694.659
SVC2=       0.000
XTC2=  415316.307
YTC2= 4872694.659
AC2 =       0.000

VERTICE 13

XT1 =  415273.165
YT1 = 4872675.033
SVC1=       0.000
XTC1=  415273.165
YTC1= 4872675.033
AC1 =       0.000

XV  =  415247.166
YV  = 4872663.206
AV  =     77.7791
AD  =    122.2209
XC  =  415281.446
YC  = 4872656.828
R   =      20.000
SVRC=      38.397
SVL =      38.397

XT2 =  415267.172
YT2 = 4872642.820
SVC2=       0.000
XTC2=  415267.172
YTC2= 4872642.820
AC2 =       0.000

VERTICE 14

XT1 =  415325.880
YT1 = 4872582.995
SVC1=       0.000
XTC1=  415325.880
YTC1= 4872582.995
AC1 =       0.000

XV  =  415339.423
YV  = 4872569.195
AV  =    102.1512
AD  =     97.8488
XC  =  415311.605
YC  = 4872568.987
R   =      20.000
SVRC=      30.740
SVL =      30.740

XT2 =  415326.088
YT2 = 4872555.194
SVC2=       0.000
XTC2=  415326.088
YTC2= 4872555.194
AC2 =       0.000

VERTICE 14

XT1 =  415320.711
YT1 = 4872549.548
SVC1=       0.000
XTC1=  415320.711
YTC1= 4872549.548
AC1 =       0.000

XV  =  415310.528
YV  = 4872538.856
AV  =    163.4413
AD  =     36.5587
XC  =  415284.504
YC  = 4872584.031
R   =      50.000
SVRC=      28.713
SVL =      28.713

XT2 =  415296.171
YT2 = 4872535.411
SVC2=       0.000
XTC2=  415296.171
YTC2= 4872535.411
AC2 =       0.000

VERTICE 14

XT1 =  415266.828
YT1 = 4872528.370
SVC1=       0.000
XTC1=  415266.828
YTC1= 4872528.370
AC1 =       0.000

XV  =  415246.512
YV  = 4872523.495
AV  =    167.4749
AD  =     32.5251
XC  =  415285.495
YC  = 4872450.578
R   =      80.000
SVRC=      40.872
SVL =      40.872

XT2 =  415231.174
YT2 = 4872509.309
SVC2=       0.000
XTC2=  415231.174
YTC2= 4872509.309
AC2 =       0.000

VERTICE 15

XT1 =  415223.878
YT1 = 4872502.561
SVC1=       0.000
XTC1=  415223.878
YTC1= 4872502.561
AC1 =       0.000

XV  =  415205.464
YV  = 4872485.529
AV  =    140.7966
AD  =     59.2034
XC  =  415189.928
YC  = 4872539.267
R   =      50.000
SVRC=      46.498
SVL =      46.498

XT2 =  415180.801
YT2 = 4872490.107
SVC2=       0.000
XTC2=  415180.801
YTC2= 4872490.107
AC2 =       0.000

VERTICE 16

XT1 =  415174.154
YT1 = 4872491.341
SVC1=       0.000
XTC1=  415174.154
YTC1= 4872491.341
AC1 =       0.000

XV  =  415155.688
YV  = 4872494.769
AV  =    154.2497
AD  =     45.7503
XC  =  415165.027
YC  = 4872442.181
R   =      50.000
SVRC=      35.932
SVL =      35.932

XT2 =  415139.531
YT2 = 4872485.192
SVC2=       0.000
XTC2=  415139.531
YTC2= 4872485.192
AC2 =       0.000

VERTICE 17

XT1 =  415078.329
YT1 = 4872448.913
SVC1=       0.000
XTC1=  415078.329
YTC1= 4872448.913
AC1 =       0.000

XV  =  415070.675
YV  = 4872444.376
AV  =    177.5743
AD  =     22.4257
XC  =  415052.834
YC  = 4872491.924
R   =      50.000
SVRC=      17.613
SVL =      17.613

XT2 =  415061.924
YT2 = 4872442.758
SVC2=       0.000
XTC2=  415061.924
YTC2= 4872442.758
AC2 =       0.000

VERTICE 18

XT1 =  414987.969
YT1 = 4872429.084
SVC1=       0.000
XTC1=  414987.969
YTC1= 4872429.084
AC1 =       0.000

XV  =  414964.329
YV  = 4872424.713
AV  =    142.9355
AD  =     57.0645
XC  =  414978.878
YC  = 4872478.251
R   =      50.000
SVRC=      44.818
SVL =      44.818

XT2 =  414946.153
YT2 = 4872440.448
SVC2=       0.000
XTC2=  414946.153
YTC2= 4872440.448
AC2 =       0.000

VERTICE 19

XT1 =  414892.661
YT1 = 4872486.756
SVC1=       0.000
XTC1=  414892.661
YTC1= 4872486.756
AC1 =       0.000

XV  =  414889.991
YV  = 4872489.067
AV  =    194.3845
AD  =      5.6155
XC  =  414840.300
YC  = 4872426.272
R   =      80.000
SVRC=       7.057
SVL =       7.057

XT2 =  414887.129
YT2 = 4872491.134
SVC2=       0.000
XTC2=  414887.129
YTC2= 4872491.134
AC2 =       0.000

VERTICE 21

XT1 =  414791.901
YT1 = 4872559.888
SVC1=       0.000
XTC1=  414791.901
YTC1= 4872559.888
AC1 =       0.000

XV  =  414754.603
YV  = 4872586.816
AV  =     27.2534
AD  =    172.7466
XC  =  414786.047
YC  = 4872551.780
R   =      10.000
SVRC=      27.135
SVL =      27.135

XT2 =  414777.356
YT2 = 4872546.834
SVC2=       0.000
XTC2=  414777.356
YTC2= 4872546.834
AC2 =       0.000

VERTICE 21

XT1 =  414864.810
YT1 = 4872393.156
SVC1=       0.000
XTC1=  414864.810
YTC1= 4872393.156
AC1 =       0.000

XV  =  414900.752
YV  = 4872329.997
AV  =     25.9176
AD  =    174.0824
XC  =  414851.773
YC  = 4872385.737
R   =      15.000
SVRC=      41.017
SVL =      41.017

XT2 =  414842.740
YT2 = 4872373.762
SVC2=       0.000
XTC2=  414842.740
YTC2= 4872373.762
AC2 =       0.000

VERTICE 22

XT1 =  414792.049
YT1 = 4872412.004
SVC1=       0.000
XTC1=  414792.049
YTC1= 4872412.004
AC1 =       0.000

XV  =  414761.150
YV  = 4872435.314
AV  =    116.1255
AD  =     83.8745
XC  =  414761.936
YC  = 4872372.088
R   =      50.000
SVRC=      65.875
SVL =      65.875

XT2 =  414730.841
YT2 = 4872411.242
SVC2=       0.000
XTC2=  414730.841
YTC2= 4872411.242
AC2 =       0.000

VERTICE 23

XT1 =  414728.560
YT1 = 4872409.431
SVC1=       0.000
XTC1=  414728.560
YTC1= 4872409.431
AC1 =       0.000

XV  =  414696.113
YV  = 4872383.663
AV  =    131.9517
AD  =     68.0483
XC  =  414685.026
YC  = 4872464.247
R   =      70.000
SVRC=      74.823
SVL =      74.823

XT2 =  414657.914
YT2 = 4872399.711
SVC2=       0.000
XTC2=  414657.914
YTC2= 4872399.711
AC2 =       0.000

VERTICE 24

XT1 =  414569.326
YT1 = 4872436.926
SVC1=       0.000
XTC1=  414569.326
YTC1= 4872436.926
AC1 =       0.000

XV  =  414513.175
YV  = 4872460.516
AV  =     30.7460
AD  =    169.2540
XC  =  414563.516
YC  = 4872423.097
R   =      15.000
SVRC=      39.880
SVL =      39.880

XT2 =  414551.949
YT2 = 4872413.548
SVC2=       0.000
XTC2=  414551.949
YTC2= 4872413.548
AC2 =       0.000

VERTICE 35

XT1 =  414597.304
YT1 = 4872358.608
SVC1=       0.000
XTC1=  414597.304
YTC1= 4872358.608
AC1 =       0.000

XV  =  414610.465
YV  = 4872342.666
AV  =    167.8023
AD  =     32.1977
XC  =  414658.997
YC  = 4872409.539
R   =      80.000
SVRC=      40.461
SVL =      40.461

XT2 =  414629.702
YT2 = 4872335.095
SVC2=       0.000
XTC2=  414629.702
YTC2= 4872335.095
AC2 =       0.000

VERTICE 26

XT1 =  414697.735
YT1 = 4872308.323
SVC1=       0.000
XTC1=  414697.735
YTC1= 4872308.323
AC1 =       0.000

XV  =  414774.535
YV  = 4872278.100
AV  =     15.3523
AD  =    184.6477
XC  =  414694.073
YC  = 4872299.017
R   =      10.000
SVRC=      29.004
SVL =      29.004

XT2 =  414692.739
YT2 = 4872289.107
SVC2=       0.000
XTC2=  414692.739
YTC2= 4872289.107
AC2 =       0.000

VERTICE 26

XT1 =  414545.344
YT1 = 4872308.941
SVC1=       0.000
XTC1=  414545.344
YTC1= 4872308.941
AC1 =       0.000

XV  =  414530.658
YV  = 4872310.917
AV  =    184.3565
AD  =     15.6435
XC  =  414561.347
YC  = 4872427.869
R   =     120.000
SVRC=      29.487
SVL =      29.487

XT2 =  414516.894
YT2 = 4872316.406
SVC2=       0.000
XTC2=  414516.894
YTC2= 4872316.406
AC2 =       0.000

VERTICE 27

XT1 =  414447.881
YT1 = 4872343.930
SVC1=       0.000
XTC1=  414447.881
YTC1= 4872343.930
AC1 =       0.000

XV  =  414397.726
YV  = 4872363.933
AV  =    124.4057
AD  =     75.5943
XC  =  414418.245
YC  = 4872269.622
R   =      80.000
SVRC=      94.995
SVL =      94.995

XT2 =  414360.416
YT2 = 4872324.901
SVC2=       0.000
XTC2=  414360.416
YTC2= 4872324.901
AC2 =       0.000

VERTICE 27

XV  =  414360.365
YV  = 4872324.847
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